COMPONENT MOUNTING DETAIL

BRACKET ASSEMBLY

= T | wm

(4) #6-32 x 1/4" LONG
FLAT HEAD SCREW

/\~ CRESTRON DM SCALER

(SOLD SEPARATELY)

(4) #6-32 x 1-1/4" LG
PAN HEAD SCREW

Fs R PWB-270 / PWB-273-CRST-DM INSTALLATION INSTRUCTIONS

244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

WOOD STUD MOUNTING

WALL OPENING: 14-3/8" x 10-1/8"

NOTE: BOX CAN BE ORIENTED IN
ONE OF TWO POSITIONS

(4) #8 x 3/4" WOOD SCREW

—

UPPER COVER

/

LOWER COVER

,s”
§
SN\

(4) #6-32 x 3/4" OVAL HEAD SCREW

ENSURE REAR SURFACE OF BOX DOES NOT
EXTEND PAST SURFACE OF WALL STUD

16" STUD CENTERS
(2" x 4" WOOD STUDS SHOWN)
1/2" - 5/8" WALL @ @
fTHICKNESS +

% \ % 2

1/2" FROM STUD —
TO BOX EDGE

43219 LIT1425A



STEEL STUD MOUNTING

WALL OPENING: 14-3/8" x 10-1/8"

NOTE: BOX CAN BE ORIENTED IN
ONE OF TWO POSITIONS

(2) #8 x 2" SELF-DRILLING SCREW
(FOR OPEN SIDE OF STUD)

(2) #8 x 3/4" SELF-DRILLING SCREW
(FOR FLAT SIDE OF STUD)

UPPER COVER

LOWER COVER

(4) #6-32 x 3/4" LONG OVAL HEAD SCREW

ENSURE REAR SURFACE OF BOX DOES NOT
EXTEND PAST SURFACE OF WALL STUD

16" STUD CENTERS
(2" x 4" STEEL STUDS SHOWN)

) (4
1/2" - 5/8" WALL o« @ »
THICKNESS
, 1 t
U 2

1/2" FROM STUD —
TO BOX EDGE

(4) 1" & 1-1/4" KNOCKOUT

(9) TIE WRAP POINT

TO SECURE WIRES
AND CABLES
SEE ELECTRIC BOX

KNOCKOUT DETAIL

LOWER COVER
(UPPER COVER NOT SHOWN)

(5) TIE WRAP POINT
TO SECURE WIRES
AND CABLES

(2) ELECTRIC BOX KNOCKOUT
\ o F\ o

o

2) 1" KNOCKOUT
( ) \.

REMOVE FOR INSTALLATION _/ AOH[

OF ELECTRIC DEVICE

REMOVE FOR INSTALLATION
OF ELECTRIC BOX

7%

ELECTRIC BOX KNOCKOUT DETAIL




